



admissible
 labeling: $\lambda: SL(2, \mathbb{Z}) \rightarrow \mathbb{Z}[X, Y]_n$
 of degree n $\lambda(GX) = 0 \cdot \lambda(X)$

i.h. $\lambda(X) + \lambda(X^2) = 0$
 $\lambda(X) + \lambda(\lambda n) + \lambda(\lambda n^2) = 0$

$X_k(\Gamma) \equiv \mathbb{Z}$ -module of admissible labelings
 of degree $k-2$.

Note $X_2(\Gamma)$ ^{is by def. 1} can be identified with $X_2(\Gamma)$
 in obvious manner.

Example $\mathbb{Q}SL(2, \mathbb{Z})$

$X_2(SL(2, \mathbb{Z})) : \lambda \in SL(2, \mathbb{Z}) \rightarrow \mathbb{Z}$ (i.e. λ val.)
 $(\lambda + 1) \lambda = 2\lambda = 0$, i.e. $\lambda = 0$.

$X_k(SL(2, \mathbb{Z})) : \lambda : SL(2, \mathbb{Z}) \rightarrow \mathbb{Z}[X, Y]_{k-2}$
 $\lambda(X) = X \cdot \lambda(1)$
 $\lambda(1) + 5\lambda(1) = 0$
 $X(1) + 2\lambda(1) + 2^2\lambda(1) = 0$
 i.e. $\lambda(1) \Rightarrow f : \mathbb{Z}[X, Y]_{k-2} \rightarrow \mathbb{Z}$
 $f(X, Y) + f(-Y, X) = 0$
 $f(X, Y) + f(Y, Y-X) + f(-X+Y, -X) = 0$
 $\cong X_k(SL(2, \mathbb{Z}))_0$

- Exercises: 1) Determine the first $X_k(SL(2, \mathbb{Z}))$
 2) Prove $\dim X_k(SL(2, \mathbb{Z})) = \dim S_k(SL(2, \mathbb{Z}))$.

Submit before next Thursday.